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F—T #H# &
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£,36 18 B, SHEN 15 7. M ALAT =345
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=R AR E R B ERRRE, S ERBRR EEARH T A H A RN
HR %R H H AT B DR AR, TR 15 AR R 5 5 B S R X R LA TR KL 57, T
AR EMBAE R G 2T X LLAE T ) XS AR AL AR BB I » D 7 (85 A T DUAR B8 A 38 IR S R
G RAATRERYT 7 S5, BAT PR =W o X 8 B H %5 AR B R BB 15 B RN T

(—) HFHEE

BEIE RIRE AT REH K i [a] AR BRI SRR R R BB, BRI =R XS R, R A
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MEF LT R, WS BFZE R R ARG WUTIE R, M xR £ . B AR R 78 . What
time is it now? /When will the plane take off? /How long does the man have to wait for ...? /How
many people ...? /How much would the man pay for ...? /How much does ... cost? /How far away
is'. .. 7 R B TR T AT SR I RN Y BB FIAR AR B A T T , BT I R R AR BB
[Z8EA)

A) $100. B) $75. C $50. D) $25. (SCET -3 2006.12/T5)
[(FrAXE]

M: I'd like to have four desk lamps displayed in the window.

W: Here you are. $25 each.

Q: How much would the man pay?

[REMBIT)
TSI AT R0, BRI ERBER ] . T A X S S BB : 4 A1 25, B AEISE 4 M E BRAR Y
B4, & LAEEE h R BT R 25 Fou—8. BB MEFERARRA RS LRATERE. BRI A,
ZREA)
A) 9:30. B) 9:20. C) 11:40. D) 10:30. (SCET -3 2003.12/T7)
[(FhXA]
W: Mike, are you still watching that dull program? We’d better leave now. Otherwise, we’ll be late
for our 10:30 flight.
M: Take it easy. There is no need to worry. We still have 70 minutes.
Q: What time is it now?

(BB

TSI AT R 5 SR Bt TR ) o Wy 3F 5 F 3 iy BRI (] 4057 : 10: 30 A1 70, & H4R % 3, IREE
FERWATWE T HG? BAVGE T BN IR THAT 10:30 WATHE. B LEZ: 3, BLBEHL. B
WA 70 SrBPUE . T SLBLALE A B TE] RE7E 10:30 AR MBI 70 08h, BRE B

KRB TS S0 AR A B R AR J5 T -

1. BERRTERE AR SN EF 5 A DL EIC 5 BT ORI B SR R, B S BT R i 44y T4 A0
W

2. AR RTEXTTE PR AR A I T S BT (R R BRI TR] L B8 T AL B R A
CH 5 TR A AT 0 SRL BR S ORI

3. T H Wb JFE T 5 (R, FEAR R BT B A R, I 0 7E W 3 () A 7 S WA AT

4. WRBHERAZREETIINBEAERE AT ELY RS A AR ERER. FEBLTR
T SR, B SCHERR BT B A BT, 3 B RE A IR R

(Z) BB/ NhXRE

IR [ BT B % 8 o A~ AR« B 3 BX 8 XUJ5 B OR R 5 2 D 4 = W 0 X ) a0 5 LR,
e 1~2 8. BEHHARRPL SO SRR AR RMKFLE . B KR XK : Who is the man (or
woman)? /What is the (probable) relationship between the two speakers? /What’s the probable
relationship between the man and the woman? /What’s the man’s (woman’s) job? ff 8 i) & & 2 I B
N B3 SR BR FI UL TE A BITES.
[ZZEAE&]

A) Teacher-student. B) Doctor-patient.

C) Librarian-reader. D) Assistant-customer. (SCET - 3 2003.12/T3)



F—F 0rhYI% » 005

(FhXA]

W: I've been coughing for 2 days and I've got a sore throat.

M: Let me take your temperature.

Q: What is the probable relationship between the two speakers?
[RERT)

T U 2 T B A ] LA R AR T AR R, s E R A 55 81A] cough (%K) Fl sore throat (MEIR:
O FEHAL LN NEE. B+ Let me take your temperature. GEF F/RE AR B B & — 5 R MTHAB
ANZIER BB KRR, BEREB).
=y

A) Friends. B) Classmates.

C) Teacher and student. D) Doctor and patient. (SCET - 3 2006.06/T3)
(XA

M: Hello, Sue, I wanna tell you, you did very well on that last exam.

W: Thank you. I really studied hard for that. I’ll see you again in class, professor.

Q: What is the relationship between the two speakers?
[(REBH]

BT ETEA ] IS E SR T AR RE. TERRAEX ENEEBRRTH R, HHAT L+
Xf 5B - K g HFiE professor ((#2) , I ARLZRITAER R, BERE O,

DR B 5 % e R RY 2 A o LA T 5

L % o AR IR AL 1L B B UL B U5 A B B3 BONE DU IR R, Jn E R

2. W 3 e o7 2 TR T I S U\ B 13 0 S B R A B TR U S A B S B ANE AR, XA B T X U
KRR
3. ZAENBGERLTHHI AL FK, 0 professor (F$2), boss (4R , secretary ($445) , doctor/
Dr. (EE4),plumber GFIET) %,

4. ZH RN BGERAY X R IWFEE, TN teacher and student (Jfi4k) ,doctor and patient (4= g A ,
librarian and reader (& 454% 51 #13£# ) , shop assistant and customer (454 i %) , waiter/waitress and
customer (k45 RAEZ) , policeman and driver CEZMF )%,

(Z) H3HRE

IH 288 [ LR 56 T 7 A B M A S R B R W B B B AR B AL B B, R P 4 = T T XHE
AR, EE] R 1~2 8, WR=FF NP BAR 5 SR, REEARE S H 5 5 B SENL A 5 5
Rk, HEGWHTHRBER, —BAH K. WRRBERETE BRSO REE, 5 TR, 1
) 57/ . Where does this conversation most probably/likely take place? f#R3 1) < AR TR 51 &
BAHRT, TR BT HEN” . T2 B A U T T A X 37 o 0 SR B, I BT R i A R b R R 6
Yk,

[ZZRRA)

A) In a shop. B) In a bank.

C) In a restaurant. D) In an office. (SCET - 3 2006.12/T8)
[FAXE)

W: How can I be sure about the quality of the computer?

M: Well, if anything goes wrong with it within three months, we’ll pay back your money.

Q: Where does this conversation most probably take place?



O BMAFRBE=RIU—XE ER)
AR

\H R gt R ) S AR AE T4 6 817) computer GGHEEAL) F%E1E pay back your money GRF) . &4 #&+
o B o 9 R, 5B ARIE = H NN i A B B R K. BARXTIE R AW Y R, BRI BT R
ERE A RERESR.
[ZZH&A]

A) At a cinema. B) In the hospital.

C) At a hotel. D) In a book store. (SCET - 3 2006.12/T3)
[(ArAXE]

M: I wonder if we can book our room for another three nights.

M: OK. What is your room number?

Q: Where does this conversation most probably take place?

[RERET)

2 R BT R RE Y book A BhAE A, R B VAR 1. Bk DI “LEAE” R T4, b
HeHER . LS =K BIE], 55 RARAT L, M)A & LB AE R room number (F5E]5) BE4. H
I AT LAWTRE 5 b RO AR AR IR 95 A B, SR R AR E IR, O R IERE R

=8

A) In a drugstore. B) At a bookstore.

C) In the library. D) At the post office. (SCET -3 2005.12/T2)
[FAXK]

W: A packet of envelopes, six airmail stamps and ten regular stamps, please?

M: Here you are. That’ll be five dollars and twenty cents.

Q: Where does this conversation most probably take place?

[REBATD

iR R Y R BRETE T 564845 .17 envelopes (f5 ) fil stamps (HRER) , 3X & 5 WR 255 14 AH < B9 % FiA)iE
ANHEA BT 75 R AE AR R SRy , PSR D) R IERGIET .

Oz 75 Y St % b SRR 2% A oy 1 B DA T J5 1

L. R[] N 75 — IR IR B EAR I 35 B, %5 A B AR TE N 15 P9 28 #0078 U B Ak i 35 B 58 3 =2
iR R S R AE T 42 5 o M s B AR R IR

2. H BRI =T J) X P R B RN R DL VRAT VIR R S RS, T AR
R FAH R R BRI A S BRR AR , PAMEALE R AT DR 448 6 X000 i W AR AT RE W K i ENC S A R
R T P St A 4 H4 BB

3. Fhbh AL A S5 T LR A S RN R E T

(M) ARXFR™E

R EORE A AR IT IR A R AE R . WA T XL Why FF3k. ZE=RUT idtetd# LL
B “SR7JE R BRI I ) 4% » BRI b33 26 [ BB A AR G SR AR R 28 —ANURIE B AE N AR E BT A A
25,9 H 2R 3 5 56 & 101 i5 F1 % 3%, 40 because, as, for, therefore, since, thanks to, owing to, on
account of, lead to, as a result, due to %,
=730

A) Because she is on an American tour with her mother.

B) Because she is at home on a sick leave.

C) Because she is attending her sick mother at home.



E—F WAyl » 007

D) Because she is in America to see her mother. (SCET - 3 2003.06/T10)
[(rHXK]

M: I wonder what happened to Mary. She hasn’t been working here for at least a week.

W: She took a leave to see her mother in America.

Q: Why is Mary away from the office?

R

W 0 5 0 R AT 1T A B [ R O T at B O B IR R AT 4 o 58 IO B 0 o ) B B s v R RN R
1T AT 3 o i 5 29 K L T 56837 she, America, her mother, $% 5 7EUF 71 bHb IR IE HEE X R .
B HE Mary 20— B0k FIEREARH, @& LHEIZETH. iFREXEBEESRT. BE
BiEE R D) N IEHHET.
[ZZHA)

A) He was not hungry at all. B) He has his breakfast already.

C) He wanted to sleep a little more. D) He felt too cold to eat. (SCET - 3 2003.12/T8)
(AXE]

W: You’d better get up. It’s a quarter to eight, and your breakfast is getting cold.

M: I don’t feel like having any breakfast. I have another 10 minutes to sleep.

Q: Why doesn’t the man want any breakfast?

[RBBEAT)
IR Gy iRiE A)TAN DY, 25 A2 A 7021 BEAF XA WA 3L B4 RBRE Y IEMER. &. R1GE

KT . BECE 745, RN REBHRET . B: RARZEE, REZEHE 10 280, A ETEE TX“I
don’t feel like having any breakfast”f[5] X 434 , (HA Wi E B L Z ik, Z 0% T N B KIS —A)E, X EE-EK
X4, BEAGCRERERNT ZME 280 . D) BT &A Wr x5 KW 84N 51 818 4 25 4t — < 2K
BAEM. cold —iAlH BUHIEE 2 “your breakfast is getting cold”, ARERLLLFIWT H LR /B ABZR. D)
WY RABRFIR. BEHEEHRERE O,

[P 1] 4 XF AR A N B AT 5 -

1. A ANME GRS R, AR AER.

2. Wy RIS, HEW AT RE K B a1 A B T A SR

3. [EZRBEES T LT X, VSBEER.

(H) MASER

W 2K ) R OG T X — % o — B = 0 AT R WL A A BE R WUEE MY, R P AR =W X R
SRR, G 1~3 8. % WM R K. What is the man’s attitude to the woman’s suggestion? /
What does the man (or woman) mean (or imply)? /How does the man feel when it comes to ...? /
What did the man think of ...? /How did the woman feel about ...? /What does the man (or woman)
suggest?

(=8 EA)

A) He didn’t like it. B) He didn’t attend it.

O) It was better than Professor Black’s. D) It was not as good as Professor Black’s.

(SCET - 3 2004.12/T9)

(FhXA]

W: I liked Professor Smith’s lecture this morning.
M: So did I. Professor Black’s talk was even better.



RFAFRIE=RBX—XE (F_MR)

Q: What did the man think of Professor Smith’s lecture?
[HEBBAT]

W RIS & B B T 5 A) O D) TR iFH & BAR , & SeHEER . FATAT AT 4 [
25 58 0 it BTEHT AR, FERL S B T S XHE R I LR . O DT EA R, FEAMEE
B MR, K — MRA R EHER. WEERAL LEVE BN BRASRHEY. 5L/ So did I
(Fot ) g FE R E . {B4M T3] Professor Black’s talk was even better (i3 Ta B WE I ERE) .
XA G A 2 A R, T D)UY not as good as G5 MR XS A 9 [F] CHG R . i WHIT D) R IE W4
ER.

[=ZZE=M)

A) John is too young to leave home.

B) John can stand by himself.

C) John has to learn to be independent.

D) John is not worried about his feet. (SCET - 3 2006.06/T6)

[ XA)

W: John will be a college freshman in the fall. I’'m a little worried about him. He’s never been away

from home before.

M: Well, it has to happen sooner or later. He has to learn to take care of himself.

Q: What does the man mean?

[EBBAT)

B E“fall” A7 WGBSR F R A Z1RE kR . ABMEEKBAEB A REF E. BAIAH
ZHIARBE TSR], A . SRS EZES LM% : Well, it has to happen sooner or
later. He has to learn to take care of himself. GXR2RMSEENSE, MB¥SRBECD). BELHMWS
F13%E+ John has to learn to be independent (15242l ) BN, Fitk O %I EHER.

DR 15 ] 4 %F A2 A W i B AR 5

1. A B AR R EIE AR BE CBR B BON VB3R I IRED) B WIRHE A B, an3R7n e L) Why
" not CHH4A?),1 don’t/wouldn’t mind (F A/ &), I can’t agree with you more, so do/did I; X4} It’s
out of question (¥ [&]&) Fl It’s out of the question GXJE AT BEH)D %,

- R LA EAL R B AR

- AT DAARRE U Y TE SR E PR i E U A R R RS BE

. I N4 4 should, had better, would like 25— 25fiaiE , Bl AR A )8 T WA S RER .,
. RGP RS KA TR ARR A A AN E LA MBI,

(7%) 1730t RI=E

SH A ) RO T R 1 10— OB At  IE TR AR ME R R R 3 B — Oy U — TR . AR
DI 4E =B W S X G A BB AE 1~2 3B . 2R R A2 I H LA shia i AE 00T 3k, % IR 1) 5 =X
24 : What would (will) the woman probably do? /What is the man planning to do this (afternoon)? /
What does the man suggest to the woman? /What are the two speakers doing? /What are they going to
do (tonight)? |
=

A) To teach in a school. B) To work for her farther.

C) To travel round the country. D) To look for a job. (SCET - 3 2004.06/T10)

[nXxx)

M: What are you going to do after you graduate from this university?

[\

a1 o~ W



EF—F 0% » 009

W: Well, my farther expects me to teach English in a school, and I’'m convinced teachers are highly
respected in our country.

Q: What is the woman probably going to do?
(KA

oY e I e B K A A e SR 5 BT DAAS REAR AT 6T X A Z AT W S E S R4 e . W7 & B
HRESRE A REARNE . ZHRBISOCGEHBIEN A C AR, B H N EERLYIEELEMWHE., &
BEHERT L G L AT RERTE AR A, AT ERER.
(ZZRA)

A) Watching TV. B) Swimming the channel.

C) Listening to the radio. D) Changing the news program. (SCET -3 2003.06/T1)
(FAXE])

M: Will you please change this channel? I can’t stand this program.

W: If you wait a minute, the news will be on next. I want to be sure to see it tonight.

Q: What are they two speakers doing?

[(RAEMT)

BT R SR BAE AT 2, AR AT BB 41 X 3 N IEAE AT SRR, ITREF RIS LE R L+
#455E (channel 7ERLARE “BUIE” T AE “Mgbk”, NPRMFEE IR A S IRIEER B IETD, ACHBAZAT T,
(FER: BeAbry stand AfESNAE, R “ER”) LM% RIFESE—2, TN TEREHE. o5k —
EBEHE. MESTT NSRBI B, AEBTEMAEERFBR. BRHN A,

[ZZEA)

A) Stay in the office. B) Go to Alice’s home.

O) Visit Fred’s family. D) Go to the movie. (SCET - 3 2003.06/T7)
(055X A))

M: Hi Alice, this is Fred speaking. Would you like to go to the movies tonight?

W: Thanks, I’d love to. I haven’t been there for a long time.

Q: What are the two speakers most probably going to do tonight?

[REBAT)

VeI LA A JFE T 3k, o] AW S 1) AT RE R SC TR RIS 89, )& TH EAT NTESIRE. WrFSC
AR 5B AT RS Alice, BiFE S —REERZ . Alice FRAN A, HCHFABRELTHER T, Fik
AXEREH D) R IEFHESR.

DAL T S % R A B TE RS LA T 5 T

L. B[R] T H R BRI » A PO U LA iR RO I 3k, ML 2 TR E AR F A
FRA T H B B 2 AT 3 42 7 T3k, R E 56 TR IEFE#EAT S F BRI RISIT R %
PO BT LA 58 STF 3k » (R AT BB C TR 300 B G R RIE BRI

2. ERERICR S SIAMRXKER . A BRI B MK .

3. BERRERBEWNMK, XRATESEREEMX.

(£) BXRRSHEET&H

2K () R T B2 AR AR R A 19 T BN AT I & UM RO E R 4, PR LTS — J7 5%
X7 AR (B Y P AL L SORES G B BE S R AT 55 . SRR BY 2 7 4F = W ) R 3% #4005 R A, R
B7E 1~2 38, @®WE BN F. ¥ WM XK : What do we learn from this conversation? /What
can we learn about ... from this conversation (according to the woman)? /What happened ...?7



| BMAFRBE-RIH-FE FEM)
[Z&EM])

A) He has children. B) He has a brother and a sister.

C) He’s the youngest in his family. D) He’s away at college. (SCET -3 2004.06/T1)
[(TAXE]

M: Is John the oldest child in the family?

W: No. there’s an older brother, who’s married and has children, and also a sister who’s away at

college. ‘
Q: What can we learn about Jim?

[RERAT)

YT & L AT B) BUE A L5 FIE AR, 11 OB D) BE SEHEFBER. IR ET +
REFE—HBRT, WERLER—. KIEFMBF/ORIE. WRZRHEEZR ARTHESRIENETTL
X, HEHER B RBUEE BT Ht— 2 ARIEERIEET, XHEHH No (NENABERKT. Fi/E Y
28 —HF5F (older brother) ,{H i /5 3CHH Y sister 1 32 JHAH BRIR IR R & 3L, BRI C) 3000 A0 1t 1 K 48
Xt Wr JhhR b g 1B W AMB IR Y 554 TR sister TAEAE AN, Hilt D)ETHA R, EHEREB).

=y

A) She felt proud of her winning the race.

B) She lost the race because she fell.

C) She won the race though she fell.

D) She won the race very easily. (SCET - 3 2006.06/T9)
[FrAXE]

M: Mary. I’'m proud of you. It was a good race and you did your best.

W: Thanks. It’s very nice of you to say so, but if only I hadn’t fallen.

Q: What happened to Mary?

[REBHT)

B e & B B) AN D) I i) B8 B BAH S, BT R ARA AT RER — MR IERE R, U it D E T
. WERARR SR IEMF but FPTZ S5 HIE XE.O -« if only J5 T A F 8 B IE S, Rk X ik L
PR I Y — PRI 1 H R B BRIF T BT DA R L B AR R “ E R R A BB
T7. EMMEREB).

D7 RB 75 Y % SRR A% A B 1 R LA T J5 i

1. KR H 75 B ARE X T8 N A 9 R SCERHE 635 A AP B, B RAR D B IR SO 3R, 2 Xt
T PN 25 1 [) S S AR 0 %o 8 PR 2 HE DT L4 0 S S 4 3, R0 A 7 A A o 5 DAY TR ) R b 2R

2. YR TR A5 R0 PR 2 T AR 8 W 5 I L SR TE MRS A 5, DA By S A T HE R A K

3. ZAEBEHRT AR FMEEEXRLE HHEEL.

4. FANAGEBRBEIESWAHRRE, 0 if 51 SRR LA A S EBURMDE.

5. WTRIMA—ERIEFER, HEWHEH EFLEI—B A 22X 75 U 21 B 3N 40755 , 5 A= i) 4 20 Wy
BRAEE, AR RIM R R iE s ELAE N

(J\) BB
I ) R 25 A AR 0 R T B 4T LU BRI 2 SR L. TR AL B A B B A B R L R R L B
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W—Se R LB G . RIS % SH &E%, Il Who speaks English best? /Who is the tallest girl of
the four?
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A) Susan. B) Linda. C) Anne. D) Angela. (SCET - 3 2005.12/T8)
(FHXA)

W: Angela is very tall. She is much taller than Anne and Linda.

M: But Susan is even taller. I’ve never seen such a tall girl.

Q: Who is the tallest girl of the four?
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WA =8 . What do we learn from this conversation?
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A) The train is late. B) The train is crowded.

C) The train is on time. D) The train is out of order. (SCET -3 2006.12/T2)
[THAXAE]

W: Excuse me. Do you know when the train arrives?

M: I’'m sorry. The train is behind schedule. You’ll have to wait another 20 minutes.

Q: What do we learn from this conversation?
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Section A Short Conversations
Directions: In this section, you will hear 10 short conversations in each exercise. At the end of each
conversation , a question will be asked about what was said. Both the conversation and the
question will be spoken twice. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D), and decide which is the best answer .
Then mark the corresponding letter on the Answer Sheet with a single line through the center.
Example: You will hear:
M: Is it possible for you to work late, Miss Green?
W: Work late? I suppose so, if you really think it is necessary?
Q: Where do you think this conversation most likely take place?



